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SECTION A
Secuon | ®).

1A :
-\ techn,
u
que uses in comparatve analysis of financial statement 18
]

‘\ gl‘a <
.bovcphlcal Analysis B preference analysis C. common size analysis D. returning analysis E

all of the

2. Neyt _
equity ;‘;::E;:Vﬂﬂablc to stockholders 1s Sh125 and total assets are Sh1,096 then return on common

.'\‘ o l lO/
“““ 40% C.0.12 umes D 12° E None of the above

3. Pnce per share 1s Sh30 and an eacrungs per share 1s Sh3 5 then pnce for earmings ratio would be
K857 ey B. 8.57% C.0.11 tmes D. 11% E. 10%

4 Pace per share 15 Sh2s and cash (low per share 1s Sh6 then price to cash flow ratio would be

A.024 timcsd‘i.l() tumes C 4.16% D 24% E. 016%

5. Low Price for earnings rato 1s result of

o low nskier firms B high nskier firms C. low dividends pad D. high marginal rare

E. middle dividend pad
Cagle

‘M'V Ay S

i A firm has a higher quick (or acd test) ratio than the industry average, which unpﬁit‘;
- the firm has a higher P/E ratio than other fims n the industry

B. the firm 1s more likely to avoid insolvency 1n the short run than other firme n the industry

C the firm may be less profitable than other firms w1 the indusiv

D the firm has a hugher P/E rauo than other firms 1n the industry and the firm 1s more hkely to avoid

msolvency in the short run than other firms in the industry

E. the firm 15 more likely to avoid nsolvency in the short run than othet firms i the industry and the

firm may be less profitable than other firms in the industry

7 A firm has a lower quick (or acid test) rauo than the industry average, which imphes
A. the firm has a lower P/E ratio than other firms 1n the industry
B the firm 15 less Likely to avord wnsolvency m the short run than other firms in the industry

o the firm may be more profitable than other firms in the industry
D the fum has a lower P/E rauo than other firmms n the industy and the fum s less kel to avod

insolvency in the short run than other fums n the industry
E. the firm 1s less likely to avoid mnsolvency 1n the short run than other firms in the industry and the fum

may be more profitable thaa other firms in the industry

8. An example of a bquiduty ratio is

A. fixed asset tumover8 current rauo C. acid test or quick rauo D fixed asset tumover and acid test ar
quick ratio E current rauo and acid test or quick ratio

9 ___ asnapshot of the finandial condon of the fum at a parucular ume

A The balance sheet provides B The inconie statement provides € The statement of cash flows
provides D All of these provide E. None of these provides
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10
| R N 1
f Fthe canly Now prnergted I)y the firm'y UpEEAIONY, mvestments and financial acuvies

A The balane
LI SRYITS s o
tepont 1), The |I'H'.‘t |‘u PO B Uhe ieome stitement s 2 ,,.',,,,.4/ I'he statement of cash flows s 2
AUAOES Matereny 1) Imancial condinen s g report by Hone of these 15 a tepon

:\l .;:,'::“ l;u . hlghrrvnnvl nupuwr £t than the indusiry average, which Amplies
- M has a higher 1'/1% ratio than other firms in the industry.
G ﬂ:: r"m 15 more hk‘fly 1 avoid insolvency in the short run than other firms in the tidustry
J; o TRT nore profitable than other firms 1n the industry
; :'u lfv'nm ] uul’rzmg assets more efficiently than other finms in the industry.
' [um has higher spending on new fixed assets than othes fums in the mdustry

ey
==

12 A firm has a lower asscl turnover rauo than the industry average, which imphles

A the fim has a lower P/E ratio than other firms in the industry.

l%. the fum is less likely to avoid insolvency in the short run than other firms in the industry.
C. the firm 15 less profitable than other firms in the industry

D. the firm 15 utibizing assets less cfficiently than other firms in the industry.
£ the fum has lower spending on new fixed assets than other firms in the industry.

13 1f you wish to compute economye earings and are trying 1o decide how to account for nventory,
AR w betier than LIFO B LIFO 1 beter than F1FO € 11O and LIFO are equally good D FIFO
and LIFO are equally bad ¥ None of these i correct.

14. _ of the profuability of the firm over s penod of time such as a year.

A. The balance sheet i o summaryd§. The income statement 18 a summary C. That statement of cash
flows s a summary D, The audit report is a summary I None of these 15 2

summiury

15 1f the interest sate on debt 1s higher than ROA, then a firm will ___ by increasing the use of
debtn the capial stiaciure
A mcremse the RO B not change the RO decrease the ROE D change the ROE 1n an

mdciermumable manner E. None of these 1s correct. .

r——

16. 1€ the interest rate on debt 1s lower than ROA, then a firm wall by increasing the use of
debt in the capital structure.

WX ncreane the ROL B not change the ROE (C decrease the ROE D change the ROE 1n an
indetcrnunable manner 15 None of these s correct

17 A firm has a matket 10 book value rauo that s equivalent 1o the mdusin average and an ROE that s
less than the industiy average, which mphes | ___

AL the f1nn has a lhigher P/1 rano than other firms in the industry

B. the firmy s more bkely 1w avoid wsolvency 1 the shore run than other firms n the industry

C. the firm 1s more profuable than other firms in the ndustry

D. the fum 18 utihizing st assci» more efficiently than other firms in the indusuy

I£. None of these s correct

18 In penods of inflauon, accounung depreciation s relative to replacement cost and real
€CONDMIC INCOME IS oo

A. overstated, overstated

B overstated, understated

W understated, overstated N

1D understated, undestated

E. correctly, cotrectly
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19 1€ fium has a positive tax rate, a positive ROA, and the interest rate on debt 15 the same as RO A,
then ROAwllbe ' ’

\ greater than the ROE

. evjual to the ROE

C.less than the ROL: ’ .

1 greater than zero but it 1s impossible to determine how ROA will compare to ROE

b negauve w all cases

0. A fum hax a P/F rauo of 12 and a ROE of 13% and a market t0 book value of
A 064

Bu92
Crog
¥ 156
E. None of these is correct,

Section 1 (b)

Q1lb The financial statement of an mnsurance co
format lad down by the regulatory body. Lusts a
$tatements you know (10 marks).

mpany are usually prepared m accordance with the
nd explain any FIVE contents of audited financial

SECTION B (Answer two questions from this section)

Question 2

You have been asked to prepare the final accounts for W Muthuri, a sole trader, for the year ended 31
December 2013, W' Muthun has forwarded to you all boo

ks of pnme entry and ledgers, and in addinon
has given you the following information:

2,000 out of the business bank account to take his wife on holiday o
Mombasa.

W) Up to last vear the machune

ry and vehicle used in the b
balance method. W Muthuri 1

usiness had been depreciated using the red
hunks that they should now

be depreciated using the straight ine method.
w) Mr Muthun is confident, gven hus order book, that the business will conunue to operate n its present
form for many years

1v) Mr Muthun had purchased ten s

aplers, four flip charts and four
will be used 1n the business fug the

Packets of whiteboard markers whuch
next couple of years

v) Mr Muthun informs vou that he has

1ust found an unopened electriciry bill for Sh) which was for
the quarter October to December 2013

In each case, identify and then explamn the

Main accounung concepts being highlighted and ndicare how
each should be treated in the final accoungs, (20mrks)
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Question 3

The following tnal balance ha ho owns a small
s bee paul Scottis, who
manufactunng business, as at 30 Ju?’:"zg;gtcd by the book-keeper of Pau

Dr Cs
Cnpugl Shs Sl;s(,'ﬂs
Dravings 19,050
Purchases and sales 105240 168,432
Stock at 1 July 2012 942
Debtors and creditors 3 9:“) 5,294
VAT ' 1,492
Returns 975 1,237
« Discounts 127 - . 643
v Wages and salaries ’ 30,841‘
v Motor vehicle expenses 1,021
< Rent and rates 8',7‘)6
Heatng and lighting 1,840
Telephone 355
General expenses 1,752
Bad debts wntten off 85 -
Motor vehicle at cost 8,000
Provision for dep on motor vehicles 3,500
Shop fitungs at cost 6,000
Provision for dep on shop fitungs 2,000
Provision for bad debts 150
Cash 155
Bank 21419
Total 218,923 218,923

Notes as at 30 June 2013.

1. Stock was valued at Shs11,517.

2. Motor vehicles expenses owing Shs55.

3. Rent prepad Shs275.

4 Depreciate shop Fixures and Fitungs at 10% using the straight ne method and motor vehicles at 25%
employing the reducing balance method.

5. The provision for bad debts 15 to be equal to 2 5% of debiors

REQUIRED

Use the tnal balance and accompanying notes to prepare the final accounts of the business for the year
ended 30 June 2013. Show your workings clearly (20 marks)

Question 4

There are many stakeholders who would have a vested interest in the final accounts of an organisauon as
users of the mformation provided by rhe reporting enuty

REQUIRED

Name five external and five internal stakeholders and provide n detaded what tvpe of informaton they
would be looking for 1n the informauon provided by the reporung enuty? (20 marks)
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